IRADHRO  fRE &

1.8 1) 9% (2 —20z @ —12¢ 4 48y

(1) 3ax3=3XaXx3
=3X3Xa
=9a
(2) 4X(—=52)=4X(=5) Xz
=—20x
3) (=3)X4dz=(—-3)X4X=z
=—122
4) (—6y)X(—8)=(—6)Xy X (—8)
=(=6)X(=8)Xy
=48y

(B8 1) 4x+4 (2) 6a—16 3) 3z+15 (4) 14y —28

1) dz+1)=4xzx+4x1
=4z +4

(2) 2(3a—8)=2X3a+2X(—8)
=6a —16

B) (x+5X%X3=x%x3+5%3
=3z+15

4) (2y—4)XT=2yX7+(—4)X7

=14y —28

3.8 (1) 3a+6 (2) 6x—38

1 a—3|—2x9:(a+§)><9
=(a+2)%X3
=3a+6

3r—4 _ (Bz—4)Xx4

2) 5 X4 = 5
=3r—4)X2
=6x—38

y+7 12X@y+7)

(3) 12x 3 = 5
=4X(y+7)
=4y +28

52 —8 10X (5z—8)

(4) 10x 5 = 5
=2X(bx—38)
=10z —16

3)

4y +28

(4)

10z —16



